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Test Center Name

Test Date 28/08/2023

Test Time 12:30 PM - 2:30 PM
Subject Constable (Tradesmen)

Section : General Awareness / General Knowledge

Q.1 In March 2023, the Defence Acquisition Council approved proposals worth Rs.

for the Armed Forces and Indian Coast Guard under the Buy (Indian-IDDM) category.

crore

Ans X 1.60500
X 2.80500
«” 3.70500
X 4.50500
Question ID : 630680321039
Option 11D : 6306801248878
Option 2 ID : 6306801248880
Option 31D : 6306801248879
Option 4 ID : 6306801248877
Status : Answered
Chosen Option : 4
Q.2 As per the 2011 Census of India, what is the female population in percentage?
Ans X 1.47.5 percent
X 2.46.5 percent
" 3.48.5 percent
< 4.49.5 percent
Question ID : 630680321052
Option 11D : 6306801248930
Option 2 ID : 6306801248929
Option 3 ID : 6306801248931
Option 4 ID : 6306801248932
Status : Answered
Chosen Option : 4
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Q.3 Which of the following is NOT a method of separating substances?

Ans

25 1. Threshing
/< 2. Handpicking
X 3. Winnowing

«" 4. Sewing
Question ID : 630680321058
Option 11D : 6306801248954
Option 2 ID : 6306801248953
Option 3 ID : 6306801248955
Option 4 ID : 6306801248956
Status : Answered
Chosen Option: 1
Q.4 When was the expression ‘Unity of the Nation’ changed to ‘Unity and Integrity of the Nation’
in the preamble of the Indian Constitution?
Ans  # 1.1976
X 2.1971
7 3.1951
X 4.1956
Question ID : 630680321054
Option 11D : 6306801248940
Option 2 ID : 6306801248939
Option 3 ID : 6306801248937
Option 4 ID : 6306801248938
Status : Answered
Chosen Option: 3
Q.5 Which of the following was the first language to be accorded the status of a classical
language in India?
Ans X 1.Telugu
o 2. Tamil
& 3. Sanskrit
< 4.Kannada
Question ID : 630680321046
Option 11D : 6306801248908
Option 2 ID : 6306801248907
Option 31D : 6306801248905
Option 4 ID : 6306801248906
Status : Answered
Chosen Option: 3
Q.6 The wind blowing in the northern plains in the summer is known as
Ans 1. Loo
X 2. Trade winds
X 3. Kaal Baisakhi
X 4. Foehn
Question ID : 630680321049
Option 11D : 6306801248918
Option 2 ID : 6306801248920
Option 3 1D : 6306801248917
Option 4 ID : 6306801248919
Status : Answered

Chosen Option :

1
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Q.7 Which of the following statement is correct regarding National Income Accounting?
I. Stocks are defined over a period of time.
Il. Flows are defined at a particular point of time.

Ans X 1.0nlyll

" 2. Neither I nor Il

/< 3.Bothlandl
X 4.0nlyl
Question ID : 630680321042
Option 11D : 6306801248890
Option 21D : 6306801248892
Option 3 ID : 6306801248891
Option 4 ID : 6306801248889
Status : Answered
Chosen Option : 3
Q.8 The average temperature of Chennai, on the eastern coast, during winter season is between
Celsius.
Ans X 1.8°-10°
o 2.24° - 25°
/5 3.45°-50°
X 4.14°-12°
Question ID : 630680321051
Option 11D : 6306801248926
Option 21D : 6306801248927
Option 3D : 6306801248928
Option 4 ID : 6306801248925
Status : Answered
Chosen Option: 3
Q.9 The of a firm is a relationship between inputs used and output produced by the firm.
Ans X 1.Income function
X 2. Sales function
+# 3. Production function
/5 4. Distribution function
Question ID : 630680321041
Option 11D : 6306801248885
Option 2 ID : 6306801248888
Option 31D : 6306801248886
Option 4 ID : 6306801248887
Status : Answered
Chosen Option : 1
Q.10 Which of the following is NOT an official language of Tripura?
Ans X 1.Bengali
o 2. Hindi
25 3. Kokborok
X 4. English
Question ID : 630680321047
Option 11D : 6306801248909
Option 21D : 6306801248910
Option 31D : 6306801248912
Option 41D : 6306801248911
Status : Answered
Chosen Option : 3
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Q.11 What is the literacy rate of Karnataka as per the 2011 census of India?
Ans X 1.81.37 percent

X 2.71.37 percent
/< 3.85.37 percent
% 4.75.37 percent

Question ID : 630680321053
Option 11D : 6306801248935
Option 2 ID : 6306801248933
Option 31D : 6306801248936
Option 4 ID : 6306801248934
Status : Answered
Chosen Option : 4
Q.12 Dola Purnima is related to which of the following Indian states?
Ans X 1.Gujarat
X 2.Kerala
/< 3.Haryana
" 4. Odisha
Question ID : 630680321048
Option 11D : 6306801248915
Option 21D : 6306801248913
Option 31D : 6306801248914
Option 4 ID : 6306801248916
Status : Answered
Chosen Option : 4
Q.13 Which of the following statements is correct regarding the Indian Constitution?
I. The President of India administers the oath of Secrecy of the Union Ministers.
11. A Union Minister loses his or her position if he or she is not a member of parliament for
six consecutive months.
Ans o 1.Bothlandll
5 2. Neither I nor Il
< 3.0nlyl
X 4.0nlyll
Question ID : 630680321056
Option 11D : 6306801248947
Option 2 ID : 6306801248948
Option 31D : 6306801248945
Option 4 ID : 6306801248946
Status : Answered

Chosen Option :

1
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Q.14 The 5th Junior Boys National Boxing Championship 2023 was held in which of the following

Indian states?
Ans X 1. Mizoram

X 2. Manipur
X 3. Assam
" 4. Arunachal Pradesh

Question ID : 630680321036
Option 11D : 6306801248867
Option 2 ID : 6306801248866
Option 31D : 6306801248865
Option 4 ID : 6306801248868
Status : Answered
Chosen Option : 4
Q.15 Article 76 of the Indian Constitution is related with .
Ans X 1. Council of Ministers to aid and advise President
< 2. the president has power to grant pardon in certain cases
X 3. extent of executive power of the union
" 4. Attorney-General for India
Question ID : 630680321055
Option 11D : 6306801248943
Option 2 ID : 6306801248942
Option 3 ID : 6306801248941
Option 4 ID : 6306801248944
Status : Answered
Chosen Option : 2
Q.16 Which of the following is correct about Herbs?
I. They have tender stems.
Il. They are usually very big.
Ans X 1.0nlyll
< 2.Both land Il
& 3. Neither I nor Il
o 4.0nly |
Question ID : 630680321059
Option 11D : 6306801248958
Option 2 ID : 6306801248959
Option 31D : 6306801248960
Option 4 ID : 6306801248957
Status : Answered
Chosen Option : 4
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Q.17 In May 2023, which was the host city of the India-Africa joint military exercise 'AFINDEX-
20237

Ans X 1.Chennai
X 2. Kolkata

/X 3. Visakhapatnam

o 4. Pune
Question ID : 630680321038
Option 11D : 6306801248874
Option 2 ID : 6306801248873
Option 31D : 6306801248876
Option 4 ID : 6306801248875
Status : Answered
Chosen Option : 4
Q.18 The northern part of the western coastal plain of India is called the
Ans X 1.Kutch
Z5 2. Kannad Plain
" 3. Konkan
X 4. Malabar coast
Question ID : 630680321050
Option 11D : 6306801248922
Option 2 ID : 6306801248923
Option 31D : 6306801248921
Option 4 ID : 6306801248924
Status : Answered
Chosen Option: 3
Q.19 The National Sports Day in India is celebrated on .
Ans o 1.29th August
X 2. 7th July
X 3.29th July
/5 4. 7th August
Question ID : 630680321035
Option 11D : 6306801248864
Option 2 ID : 6306801248861
Option 3D : 6306801248862
Option 4 ID : 6306801248863
Status : Answered
Chosen Option : 3
Q.20 On , 1919, the infamous Jallianwala Bagh incident took place in Amritsar.
Ans X 1.11 April
25 2,12 April
" 3. 13 April
25 4.10 April
Question ID : 630680321043
Option 11D : 6306801248894
Option 2 ID : 6306801248895
Option 31D : 6306801248896
Option 4 ID : 6306801248893
Status : Answered
Chosen Option : 3
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Q.21 Under which of the following acts, plantation workers in Assam were not permitted to leave

the tea gardens without permission during British India?
Ans X 1. Labour Restriction Act

< 2. Tea monopoly Act
#< 3. Plantation labourers Act

" 4. Inland Emigration Act

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680321044
6306801248900
6306801248899
6306801248897
6306801248898
Answered

1

Q.22 The Charaka Samhita book is related to .
Ans X 1.Geometry

«" 2. Ayurveda
< 3. Numerology
X 4. Astronomy

Question ID : 630680321045
Option 11D : 6306801248903
Option 2 ID : 6306801248901
Option 3 ID : 6306801248902
Option 4 ID : 6306801248904
Status : Answered
Chosen Option : 2
Q.23 Which of the following is an objective of the Chandrayaan - 3 mission?
|. To demonstrate safe and soft landing on Lunar Surface.
11. To conduct in-situ scientific experiments.
Ans o 1.Bothlandll

X 2. Neither I nor Il

X 3.0nlyll

< 4. Onlyl
Question ID : 630680321037
Option 11D : 6306801248871
Option 2 ID : 6306801248872
Option 3D : 6306801248870
Option 4 ID : 6306801248869

Status : Answered
Chosen Option : 4
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Q.24 Which of the following is/are a bench of Odisha High Court?

I. Cuttack
Il. Bhubaneswar
Ans X 1. Neither I nor Il
o 2.0nly |
X 3.0nlyll
< 4.Bothlandl
Question ID : 630680321057
Option 11D : 6306801248952
Option 2 ID : 6306801248949
Option 31D : 6306801248950
Option 4 1D : 6306801248951
Status : Answered
Chosen Option: 2
Q.25 The Kui language, which was in the news in July 2023, is associated with which of the
following Indian states?
Ans 4 1. 0Odisha
X 2. Assam
25 3. Manipur
X 4.Goa
Question ID : 630680321040
Option 11D : 6306801248884
Option 2 1D : 6306801248881
Option 31D : 6306801248882
Option 4 ID : 6306801248883
Status : Answered
Chosen Option : 4
Section : Knowledge of elementary mathematics
Q.1 A student obtained equal marks in english and history. The ratio of marks in history and
maths is 6 : 7. He scored an aggregate of 76 percent in the three subjects. Maximum marks
for each subject is 100. How much did he score in history?
Ans  #1.72
X 2.48
X 3.84
X 4.36
Question ID : 630680321073
Option 11D : 6306801249013
Option 2 ID : 6306801249014
Option 31D : 6306801249016
Option 4 ID : 6306801249015
Status : Answered
Chosen Option : 4
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Q.2 60 percent of the cost price of an article is equal to the 40 percent of its selling price. What

is the profit percentage?
Ans  # 1.50 percent

< 2.100 percent
< 3.60 percent
X 4. 40 percent

Question ID : 630680321067
Option 11D : 6306801248990
Option 21D : 6306801248991
Option 31D : 6306801248992
Option 4 ID : 6306801248989
Status : Answered
Chosen Option : 3
Q.3 Height of a cone is 12 cm and radius of its base is 3.5 cm. What is the volume of the cone?
Ans .z 1 154cm®
X 2.116cmd
X 3.144cmd
X 4.168 cm®
Question ID : 630680321082
Option 11D : 6306801249051
Option 2 ID : 6306801249049
Option 31D : 6306801249050
Option 4 ID : 6306801249052
Status : Answered
Chosen Option : 4
Q.4
18
What is the valueof: | 1 + — 1+ —
19
Ans X 1.21
o 2.27
X 3.36
X 4.25
Question ID : 630680321061
Option 11D : 6306801248965
Option 21D : 6306801248967
Option 31D : 6306801248968
Option 4 ID : 6306801248966
Status : Answered
Chosen Option : 2
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Q.5 The ratio of three numbers is 2 : 6 : 3. If their product is 12348, then what is the sum of the

three numbers?

< 1.55
X 2.66
X 3.44
& 4.77

Ans

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

1 630680321072
: 6306801249009
: 6306801249010
: 6306801249012
: 6306801249011
: Answered

03

Q.6 If two successive discounts of 25 percent and 4 percent are offered, then what is the net

discount?
X 1.25 percent

& 2.30 percent

Ans

" 3. 28 percent
X 4.32 percent

Question ID : 630680321070

Option 11D : 6306801249001
Option 2 ID : 6306801249003
Option 3 ID : 6306801249004
Option 4 ID : 6306801249002
Status : Answered
Chosen Option : 1
Q.7 What is the total surface area of a cone whose radius is 10 cm and height is 24 cm?
Ans X 1.1376.73 cm?
o 2.1131.43 cm?
% 3.1249.37 cm?
X 4.976.29 cm?
Question ID : 630680321083
Option 11D : 6306801249053
Option 2 ID : 6306801249056
Option 3 ID : 6306801249054
Option 4 ID : 6306801249055
Status : Answered
Chosen Option : 2
Q.8 A dealer sells a machine having marked price as Rs. 2200 at a discount of 14 percent. What
is the selling price of the machine?
Ans X 1.Rs.1952
o 2.Rs. 1892
< 3.Rs. 1785
X 4.Rs. 2042
Question ID : 630680321069
Option 11D : 6306801248999
Option 2 ID : 6306801248998
Option 31D : 6306801249000
Option 4 ID : 6306801248997
Status : Answered
Chosen Option: 3
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Q.9 What is the average of first 23 multiples of 17?
Ans X 1.310

o 2.204
X 3.212
X 4.210

Question ID : 630680321062
Option 11D : 6306801248971
Option 2 ID : 6306801248970
Option 3 ID : 6306801248972
Option 4 ID : 6306801248969
Status : Answered
Chosen Option : 4

Q.10 Average age of 12 students of a school is 23 years. The average age of students and their
mathematics and science teacher is 35 years. If the age of science teacher is 15 years more
than the age of mathematics teacher, then what is the age of mathematics teacher?

Ans X 1.98.5years
X 2.101.5 years
/< 3.100 years
o 4.99.5 years

Question ID : 630680321064
Option 11D : 6306801248980
Option 2 ID : 6306801248979
Option 3D : 6306801248977
Option 4 ID : 6306801248978
Status : Answered
Chosen Option : 1

Q.11 If z percent of z is 1849, then what is the value of z?
Ans o 1.430

X 2.470
% 3.530
X 4.370

Question ID : 630680321065
Option 11D : 6306801248983
Option 2 ID : 6306801248982
Option 31D : 6306801248984
Option 41D : 6306801248981
Status : Answered
Chosen Option : 3
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Q.12 Two pipes can fill a tank in 20 hours and 24 hours respectively and a outlet pipe can empty
44 gallons of water per hour. All the three pipes working together can fill the same empty
tank in 40 hours. What is the capacity of the tank?

Ans X 1.700 gallons
X 2.670 gallons
" 3. 660 gallons
X 4.610 gallons

Question ID
Option 11D

: 630680321077

1 6306801249032
Option 21D : 6306801249031
Option 3 ID : 6306801249029
Option 4 ID : 6306801249030

Status : Answered
Chosen Option : 1
Q.13 On a table the profit earned is 220 percent of the cost price. If the cost price increases by 40
percent but the selling price remains same, then what is the new profit percentage?
Ans X 1.137.66 percent
o 2.128.57 percent
Z5 3.100 percent
< 4.132.5 percent
Question ID : 630680321068
Option 11D : 6306801248996
Option 2 ID : 6306801248994
Option 3 ID : 6306801248995
Option 4 ID : 6306801248993
Status : Answered
Chosen Option: 2
Q.14 If 37.5 percent of S is added to 12.5 percent of T, then the resultant comes as 62.5 percent
of T. S is what percentage of T?
Ans X 1.33.3 percent
/X 2.66.6 percent
" 3. 133.3 percent
X 4.99.9 percent
Question ID : 630680321066
Option 11D : 6306801248985
Option 2 ID : 6306801248986
Option 31D : 6306801248988
Option 4 ID : 6306801248987
Status : Answered
Chosen Option: 3
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Q.15 The compound interest on a sum for 2 years at the rate of 32 percent per annum
(compounded annually) is Rs. 6681.6. What is the sum?

Ans X 1.Rs.8700
& 2. Rs. 9000
% 3.Rs. 8600
X 4.Rs. 8400

Question ID : 630680321075
Option 11D : 6306801249021
Option 2 ID : 6306801249022
Option 31D : 6306801249024
Option 4 ID : 6306801249023
Status : Answered
Chosen Option : 3

Q.16 One third part of a certain journey is covered at the speed of 18 km/hr, one fourth part at the
speed of 27 km/hr and the rest part at the speed of 45 km/hr. What will be the average
speed for the whole journey?

Ans X 1.35km/hr
& 2.27 km/hr
X 3.24 km/hr
X 4.22 km/hr

Question ID : 630680321079
Option 11D : 6306801249040
Option 2 ID : 6306801249039
Option 3D : 6306801249038
Option 4 ID : 6306801249037
Status : Answered
Chosen Option: 2

Q.17 The angles of a triangle are in the ratio 8 : 7 : 3. What is the largest angle of the triangle?
Ans X 1.30degree

X 2.70 degree
" 3. 80 degree
/5 4.50 degree

Question ID : 630680321071
Option 11D : 6306801249006
Option 2 ID : 6306801249005
Option 3 ID : 6306801249007
Option 4 ID : 6306801249008
Status : Answered
Chosen Option : 3
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Q.18 A new student having weight 49 kg join a class of 43 students and the average weight of the

class reduces by 0.5 kg. What is the new average weight of the class?

Ans X 1.72kg
o 2.70.5kg
& 3.69 kg
X 4.71 kg
Question ID : 630680321063
Option 11D : 6306801248975
Option 2 ID : 6306801248976
Option 31D : 6306801248973
Option 4 ID : 6306801248974
Status : Answered
Chosen Option : 2
Q.19 What is the length of the longest rod that can be placed in a room which is 5 metres long, 12
metres broad and 13 metres high?
Ans
X182 metres
o 2. 132 metres
< 3 ]5J51m3hes
X 41242 metres
Question ID : 630680321084
Option 11D : 6306801249057
Option 2 ID : 6306801249059
Option 31D : 6306801249060
Option 4 ID : 6306801249058
Status : Answered
Chosen Option : 4
Q.20 The length of two parallel sides of a trapezium are 10 metre and 20 metre. If its height is 8
metre, then what is the area of the trapezium?
Ans X 1.70 metre?
% 2. 150 metre?
" 3.120 metre?
% 4.100 metre?
Question ID : 630680321080
Option 11D : 6306801249042
Option 2 ID : 6306801249041
Option 31D : 6306801249044
Option 4 ID : 6306801249043
Status : Answered
Chosen Option : 3
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Q.21 What is the remainder when 2424 is divided by 10?
Ans X 1.2

W 2.6
X 3.4
X 4.8
Question ID : 630680321060
Option 11D : 6306801248963
Option 2 ID : 6306801248962
Option 31D : 6306801248961
Option 4 ID : 6306801248964
Status : Answered
Chosen Option : 3
Q.22 A sum becomes Rs. 34400 in 6 years on simple interest at the rate of 12 percent per
annum. What is the total interest for the 6 years?
Ans X 1.Rs. 16800
5 2.Rs. 17200
o 3. Rs. 14400
2 4.Rs. 15400
Question ID : 630680321074
Option 11D : 6306801249019
Option 2 ID : 6306801249020
Option 31D : 6306801249018
Option 4 ID : 6306801249017
Status : Answered
Chosen Option : 3
Q.23 The speed of a train is 46 km/hr. If the length of the train is 805 metre, then how much time
train will take to cross a man standing on the platform?
Ans X 1.25/18 minutes
" 2.21/20 minutes
X 3.23/19 minutes
/< 4.37/30 minutes
Question ID : 630680321078
Option 11D : 6306801249035
Option 2 ID : 6306801249033
Option 3D : 6306801249034
Option 4 ID : 6306801249036
Status : Answered
Chosen Option : 4
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Q.24 The area of a square and a rectangle is equal. The length of the rectangle is 6 cm more than
the side of the square and breadth is 4 cm less than the side of the square. What is the
perimeter of the rectangle?

Ans X 1.48cm
X 2.62cm
X 3.42cm
o 4.52cm
Question ID : 630680321081
Option 11D : 6306801249046
Option 2 ID : 6306801249047
Option 3 ID : 6306801249048
Option 4 ID : 6306801249045
Status : Answered
Chosen Option: 1
Q.25 X, Y and Z together can complete a work in 15 days. X and Y together can complete the
same work in 30 days. Z alone can finish the same work in how many days?
Ans X 1.35days
/X 2.40days
«” 3.30days
X 4.45days
Question ID : 630680321076
Option 11D : 6306801249025
Option 2 ID : 6306801249027
Option 3 ID : 6306801249026
Option 4 ID : 6306801249028
Status : Answered
Chosen Option : 4
Section : Analytical Aptitude and ablity to observe the distinguished patterns
Q.1 In the question given below, relationships between different elements are shown in the
statements. These statements are followed by two conclusions. Give answer:
Statements:
I.T<I=Z=<H;G<I
Conclusions:
ILH>T
I.H>G
Ans X 1.If neither conclusion | nor conclusion Il is true
#< 2.1f only conclusion | is true
25 3.1f only conclusion Il is true
«" 4. If both conclusions | and Il are true
Question ID : 630680321102
Option 11D : 6306801249131
Option 2 ID : 6306801249129
Option 31D : 6306801249130
Option 4 ID : 6306801249132
Status : Answered
Chosen Option : 1
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2
@ What is the approximate value of 3133[}_628 +'J5T4.9T—~||']45 ?

Ans X 1.7
X 2.36
o 3.23
X 4.49
Question ID : 630680321106
Option 11D : 6306801249146
Option 2 ID : 6306801249148
Option 31D : 6306801249147
Option 4 ID : 6306801249145
Status : Answered
Chosen Option : 3
Q.3 In the following question, a group of letters is given. The letters of each group are related
with the letters of the same group by some Logic/Rule/Relation. From the given
alternatives, select a group of letters which follows the same Logic/Rule/Relation.
(HK, Fl, DG)
Ans X 1.(TV,RT,PW)
/5 2. (DH, FE, HC)
X 3.(MT, KR, 10)
« 4. (TW,RU, PS)
Question ID : 630680321101
Option 11D : 6306801249126
Option 2 ID : 6306801249128
Option 31D : 6306801249125
Option 4 ID : 6306801249127
Status : Answered
Chosen Option : 4
Q.4 In a certain code language, ‘PSUET is written as ‘27’, ‘'SDONT is written as ‘24’. What is the
code for ‘LAWES' in that code language?
Ans o 1.20
X 2.22
X 3.19
X 4.18
Question ID : 630680321095
Option 11D : 6306801249104
Option 2 ID : 6306801249103
Option 31D : 6306801249101
Option 4 ID : 6306801249102
Status : Answered
Chosen Option : 3

Page- 17



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.5 In the following question, select the related letter pair from the given alternatives.

RT:PQ:?
Ans o 1.NP:LM
& 2.Al:CD
&< 3.ZL:BN
X 4. TN:INT
Question ID : 630680321099
Option 11D : 6306801249117
Option 21D : 6306801249118
Option 31D : 6306801249119
Option 4 ID : 6306801249120
Status : Answered
Chosen Option : 1
Q.6 In a certain code language, ‘BETTER' is written as ‘ZCRQBO’. What is the code for ‘DRIVEN’
in that code language?
Ans X 1.BPGTCL
#5 2.BPGSBL
/< 3.BPGSCK
«" 4. BPGSBK
Question ID : 630680321096
Option 11D : 6306801249108
Option 2 ID : 6306801249105
Option 3D : 6306801249107
Option 4 ID : 6306801249106
Status : Answered
Chosen Option : 4
Q.7 If ‘p’ means ‘%, ‘q’ means ‘=’ and ‘r means ‘', then which of the following equation is
correct?
1.7p18r3q11=31
11.8r10p20q14=3
Ans X 1. Neither I nor Il
" 2.0nly |
/5 3.Bothlandll
2 4.0nlyll
Question ID : 630680321109
Option 11D : 6306801249160
Option 2 ID : 6306801249157
Option 3D : 6306801249159
Option 4 ID : 6306801249158

Status : Answered
Chosen Option : 1
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Q.8 In the question given below, relationships between different elements are shown in the

Ans

statements. These statements are followed by two conclusions. Give answer:
Statements:

I.LB<AzZ>Y=X

Conclusions:

I.LA>Y

.XzZ

#< 1.1f neither conclusion | nor conclusion Il is true
X 2.1f only conclusion Il is true
«" 3. If only conclusion | is true

#< 4.1f both conclusions | and Il are true

Question ID : 630680321103
Option 11D : 6306801249135
Option 2 ID : 6306801249134
Option 31D : 6306801249133
Option 4 ID : 6306801249136
Status : Answered
Chosen Option : 3
Q.9 In the following question, four letter pairs are given. The letters on left side of (<) is related
to the letters on the right side of (—) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.
Ans X 1.0FX-QlIC
& 2.YPH - ASS
& 3. DOV - FQF
X 4.EVN - GYM
Question ID : 630680321100
Option 11D : 6306801249124
Option 2 ID : 6306801249123
Option 31D : 6306801249122
Option 4 1D : 6306801249121
Status : Answered
Chosen Option : 4
Q.10 How many pairs (in forward direction) of letters are there in the word, “NUISANCE” which
have as many letters between them in the word as there are in the english alphabetical
order?
Ans 1.0
X 24
X 3.1
X 4.3
Question ID : 630680321092
Option 11D : 6306801249089
Option 2 ID : 6306801249092
Option 31D : 6306801249090
Option 4 ID : 6306801249091
Status : Answered
Chosen Option: 3
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Q.11 ‘A @ B’ means ‘A is the mother of B’, ‘A * B’ means ‘A is the father of B’, ‘A $ B’ means ‘A is
the son of B' and ‘A # B’ means ‘A is the daughter of B'. f P @ Q#R $ S * T, then how is S

Ans

related to Q
& 1. Uncle

¥ 2. Grandfather

< 3. Father
X 4. Brother
Question ID : 630680321097
Option 11D : 6306801249112
Option 2 ID : 6306801249110
Option 31D : 6306801249111
Option 4 ID : 6306801249109
Status : Answered
Chosen Option : 1
Q.12 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.
Statements:
l. Some M are G.
1. All H are B.
11l. Some G are H.
Conclusions:
|. Some B are G.
1. No Mis H.
11l. Some G are not B.
Ans X 1. Neither conclusion | nor Il nor Il follows
¥ 2. Only conclusion | follows
< 3. 0nly conclusion Il follows
5 4. Only conclusion Il follows
Question ID : 630680321088
Option 11D : 6306801249076
Option 2 ID : 6306801249073
Option 31D : 6306801249074
Option 4 ID : 6306801249075
Status : Answered
Chosen Option : 2
Q.13 Six person A, B, C, W, X and Y are sitting around a circular table facing opposite to the
centre (not necessarily in the same order). A is second to the right of X. C is the immediate
neighbour of both A and Y. W is fourth to the right of B. Who is to the immediate left of X?
Ans X 1.Y
o 2. W
X 3.A
X 4.B
Question ID : 630680321085
Option 11D : 6306801249062
Option 2 ID : 6306801249061
Option 31D : 6306801249064
Option 4 ID : 6306801249063
Status : Answered
Chosen Option : 2
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Q.14 In the following question, select the missing number from the given series.
100, 99, 95, 79, ?, —241

Ans  #1.15
X< 218
X< 3.50
X 4.20

Question ID :
: 6306801249140
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Option 11D

630680321104

6306801249137
6306801249139
6306801249138
Answered

1

Q.15 A series is given with one term missing. Select the correct alternative from the given ones

that will complete the series.
PQR, RST, TUV, VWX, ?

Ans @ 1.XYZ
X 2.wxz
& 3. WXM
& 4. XMR

Question ID :
Option 11D :
Option 21D :
Option 31D :
: 6306801249095

Status :
Chosen Option :

Option 41D

630680321093

6306801249096
6306801249093
6306801249094

Answered
1

Q.16 Five students P, Q, R, S and T are sitting in a row facing towards the north (not necessarily in
the same order). P is on the left end of the row. Q is third to the right of P. Only T is sitting

between Q and R. Who is sitting to immediate right of Q?
Ans X 1.T

2.9
X 3.R
X 4P

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

630680321086
6306801249066

: 6306801249065
Option 31D :

6306801249067

: 6306801249068
Status :
Chosen Option :

Answered
2

Page- 21



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Q.17 By interchanging which two numbers the equation will be correct?
5-6x8+3+4=5

Ans # 1.8and4

X 2.6and4
/X 3.8and3
X 4.4and3
Question ID : 630680321107
Option 11D : 6306801249150
Option 2 ID : 6306801249152
Option 31D : 6306801249149
Option 4 ID : 6306801249151
Status : Answered
Chosen Option : 3
Q.18 f4M10N9=31and6M 12N 20 =52,then8M3N1=?
Ans X 1.25
o 2.23
X 3.20
X 4.35
Question ID : 630680321108
Option 11D : 6306801249155
Option 21D : 6306801249154
Option 31D : 6306801249153
Option 4 ID : 6306801249156
Status : Answered
Chosen Option : 2
Q.19 The word ‘'REMARKABLE' is written in the reverse order to form a new word. How many
pairs (in both forward and backward direction) of letters are there in the newly formed word,
which have as many letters between them as in the word as in the english alphabetical
order?
Ans X 1.6
X 2.0
W 3.2
X 4.4
Question ID : 630680321091
Option 11D : 6306801249088
Option 2 ID : 6306801249085
Option 3D : 6306801249086
Option 4 ID : 6306801249087
Status : Answered
Chosen Option : 3
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Q.20 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of

the given conclusion logically follows the given statements.
Statements:

. Some Z are K.

1. All K are G.

Conclusion:

I. All G are Z.

Il. NoKis Z.

Ans X 1.0nly conclusion | follows
«" 2. Neither conclusion | nor Il follows
2< 3. Both conclusions | and Il follows

#< 4. 0nly conclusion Il follows

Question ID : 630680321087
Option 11D : 6306801249069
Option 2 ID : 6306801249072
Option 31D : 6306801249071
Option 41D : 6306801249070
Status : Answered
Chosen Option : 2
Q.21 In the following question, select the missing number from the given series.
100, 104, 96, 108, 92, ?
Ans X 1.115
&< 2.110
X 3.114
o 4.112
Question ID : 630680321105
Option 11D : 6306801249143
Option 2 ID : 6306801249144
Option 31D : 6306801249142
Option 4 ID : 6306801249141
Status : Answered
Chosen Option : 4
Q.22 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
NR, QH, TX, WN, ?
Ans X 1.ZA
X 2.ZR
o 3.ZD
X 4.ZM
Question ID : 630680321094
Option 11D : 6306801249097
Option 2 ID : 6306801249100
Option 31D : 6306801249098
Option 4 ID : 6306801249099
Status : Answered
Chosen Option: 3
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Q.23 Consider the string given below made up of digits from 0 to 9. How many 3's are
immediately preceded by 5 but not immediately followed by 3 or 5?

5 9 8 3 7 8 9 T 3
3 8 3 3 0 3 ) 9 5
3 5 5 3 7 3 3

Ans X 1.3
o 2.1
X 3.2
X 4.0
Question ID : 630680321090
Option 11D : 6306801249084
Option 2 ID : 6306801249082
Option 3D : 6306801249083
Option 4 ID : 6306801249081
Status : Answered
Chosen Option : 4
Q.24 Consider the string given below made up of letters and symbols. How many letters are
immediately preceded and immediately followed by symbols?
G @ W @ G W G @G
5 @ @ @ @ W @ G
w $ @ $ G $ $ § S
Ans 1.3
K21
X 3.5
X 4.2
Question ID : 630680321089
Option 11D : 6306801249079
Option 2 ID : 6306801249077
Option 3 ID : 6306801249080
Option 4 ID : 6306801249078
Status : Answered
Chosen Option : 1
Q.25 In the following question, select the related letters from the given alternatives.
UTV:QPR:FCQ:?
Ans X 1.BXM
/5 2.CXN
«” 3. BYM
X 4.CYN
Question ID : 630680321098
Option 11D : 6306801249113
Option 2 ID : 6306801249116
Option 31D : 6306801249114
Option 4 ID : 6306801249115
Status : Answered
Chosen Option : 3

Section : Basic Knowledge of the candidates in English language
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Q.1 Select the most appropriate synonym of the given word.

Corp
X 1. Whole

75 2. Individual
#< 3. Connection

Ans

«# 4. Contingent

Question ID : 630680321121
Option 11D : 6306801249207
Option 2 ID : 6306801249208
Option 31D : 6306801249205
Option 4 ID : 6306801249206
Status : Answered
Chosen Option : 4
Q.2 Select the most appropriate meaning of the given proverb.
Once bitten, twice shy
Ans o 1. If one has been hurt then he will be more careful the next time
< 2.1f you take up a task without much thought you may have great difficulty in
completing it
25 3. Those who learn from mistakes become doubly confident of handling such situations
in future
5 4. An introverted person will always feel awkward in a gathering
Question ID : 630680321128
Option 11D : 6306801249235
Option 2 ID : 6306801249234
Option 3 ID : 6306801249236
Option 4 ID : 6306801249233
Status : Answered
Chosen Option : 1
Q.3 Select the most appropriate synonym of the given word.
Rancor
Ans X 1.Stale
X 2. Reverence
" 3. Acrimony
X 4. Comradery
Question ID : 630680321130
Option 11D : 6306801249241
Option 2 ID : 6306801249243
Option 31D : 6306801249244
Option 4 ID : 6306801249242

Status : Answered

Chosen Option :

3
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Q.4 Select the most appropriate antonym of the given word.

Mediocre

Ans X 1.occasional

" 2. extraordinary

< 3. decent
X 4. niche
Question ID : 630680321122
Option 11D : 6306801249212
Option 2 ID : 6306801249210
Option 31D : 6306801249211
Option 4 ID : 6306801249209
Status : Answered
Chosen Option : 2
Q.5 Fillin the blank with the most appropriate option.
‘My Lord, you should wait _____ said Taman.
Ans X 1.otherside
X 2. backside
X 3.in
«" 4.inside
Question ID : 630680321116
Option 11D : 6306801249186
Option 2 1D : 6306801249188
Option 3 ID : 6306801249185
Option 4 ID : 6306801249187
Status : Answered
Chosen Option : 4
Q.6 Select the most appropriate antonym of the given word.
Destitution
Ans X 1. Adulation
X 2. Felicitation
X 3. Thievery
" 4. Affluence
Question ID : 630680321129
Option 11D : 6306801249240
Option 2 ID : 6306801249239
Option 31D : 6306801249238
Option 4 ID : 6306801249237
Status : Answered
Chosen Option : 4
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Q.7 Select the most appropriate meaning of the given proverb.

A journey of a thousand miles begins with a single step.
Ans X 1. Whatis “beautiful” is different for each person.

75 2. If something takes time to do, it doesn't help to constantly check on it.
25 3. Don't put all of your hopes and resources into one goal or dream.

" 4. Something that takes a long time to finish begins with one step.

Question ID : 630680321119
Option 11D : 6306801249198
Option 2 ID : 6306801249197
Option 3D : 6306801249199
Option 4 ID : 6306801249200
Status : Answered
Chosen Option : 4
Q.8 Select the most appropriate word for the given phrase.
A group of fishes.
Ans X 1.Bunch of fishes.
25 2. Camp of fishes.
X 3. Cluster of fishes.
¥ 4. School of fishes.
Question ID : 630680321110
Option 11D : 6306801249161
Option 2 ID : 6306801249163
Option 31D : 6306801249164
Option 4 ID : 6306801249162
Status : Answered
Chosen Option : 3
Q.9 Fill in the blank with the most appropriate option.
As his heart sank deeper and his tears rose, he the portion the old man gave him
quickly.
Ans X 1.dye
o 2. ate
X 3. eight
X 4. die
Question ID : 630680321126
Option 11D : 6306801249228
Option 2 ID : 6306801249226
Option 31D : 6306801249225
Option 4 ID : 6306801249227
Status : Answered
Chosen Option : 4
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Q.10 Fill in the blank with the most appropriate option.

Vraka rose and saluted his commander.
Ans X 1. fast

75 2. moreover
25 3. rapidly
" 4. immediately

Question ID : 630680321115
Option 11D : 6306801249183
Option 2 ID : 6306801249184
Option 3D : 6306801249181
Option 4 ID : 6306801249182
Status : Answered
Chosen Option : 2
Q.11 Four words are given, out of which only one word is spelt correct. Choose the correct spelt
word.
Ans X 1.RELEVENT
< 2. TWELTH
< 3.NOTICIBLE
«# 4. LEISURE
Question ID : 630680321123
Option 11D : 6306801249213
Option 21D : 6306801249214
Option 31D : 6306801249215
Option 4 ID : 6306801249216
Status : Answered
Chosen Option : 4
Q.12 Select the most appropriate antonym of the given word.
Astute
Ans X 1.canny
X 2. clever
X 3.keen
" 4. foolish
Question ID : 630680321120
Option 11D : 6306801249201
Option 2 ID : 6306801249203
Option 31D : 6306801249202
Option 4 ID : 6306801249204
Status : Answered
Chosen Option : 2
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Q.13 Four sentences are given, out of which one sentence has spelling errors. Choose the
sentence with incorrect spelt words.

Ans o 1. Likewise, | may update this peice as more information becomes available.
25 2.1 contrived in an hour or two to print and smear the epistle.
/X 3. They packed up as quickly as their chilled fingers would work.

/X 4. Their ponies were standing crowded together with their heads down.

Question ID : 630680321124
Option 11D : 6306801249218
Option 2 ID : 6306801249219
Option 3D : 6306801249220
Option 4 ID : 6306801249217
Status : Answered
Chosen Option : 2
Q.14 Fill in the blank with the most appropriate option.
She is the class teacher, she?
Ans X 1. cant
o 2.isn't
&K 3.is
X 4. can
Question ID : 630680321117
Option 11D : 6306801249191
Option 2 ID : 6306801249192
Option 3D : 6306801249189
Option 4 ID : 6306801249190
Status : Answered
Chosen Option: 2
Q.15 Select the most appropriate meaning of the given idiom.
Not all moonlight and roses
Ans X 1.Anurgent situation.
" 2. Not always pleasant.
#< 3. To make a bad situation worse.
X 4. To make someone angry.
Question ID : 630680321118
Option 11D : 6306801249195
Option 2 ID : 6306801249193
Option 31D : 6306801249196
Option 4 ID : 6306801249194
Status : Answered
Chosen Option : 2
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Q.16 The sentence given below is divided into multiple segments. The first and last parts are
given. The remaining parts of the sentence are listed in a jumbled order. Choose the option

that arranges these parts in logical sequence.
It was late in the morning the next day

A. and Kanakhala waiting for him. A surprise
B. when Shiva and Nandi entered the private
C. Shiva said, ‘I am sorry your Highness,

D. royal office to find Daksha, Parvateshwar

| hope | haven't kept you waiting.

Ans X 1.ACDB
«” 2. BDAC
X 3.DCBA
5 4.CABD
Question ID : 630680321114
Option 11D : 6306801249179
Option 2 ID : 6306801249177
Option 31D : 6306801249178
Option 4 ID : 6306801249180
Status : Answered
Chosen Option : 2
Q.17 Fillin the blank with the most appropriate option.
He extended his arms and touched the of the old man.
Ans X 1. heir
o 2. feet
X 3.air
X 4. feat
Question ID : 630680321125
Option 11D : 6306801249224
Option 2 ID : 6306801249221
Option 3 ID : 6306801249223
Option 4 ID : 6306801249222
Status : Answered
Chosen Option : 2
Q.18 Select the most appropriate word for the given phrase.
Fear of closed space.
Ans X 1.Hydrophobia
" 2. Claustrophobia
X 3. Zoophobia
X 4. Aerophobia
Question ID : 630680321111
Option 11D : 6306801249167
Option 2 ID : 6306801249168
Option 31D : 6306801249165
Option 4 ID : 6306801249166
Status : Answered
Chosen Option : 4
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Q.19 The sentence given below is divided into multiple segments. The first and last parts are
given. The remaining parts of the sentence are listed in a jumbled order. Choose the option

that arranges these parts in logical sequence.
The vision melted into waking;

A. and through the open window. Outside
B. and there was Tom whistling like

C. already slanting down the hill

D. a tree-full of birds; and the sun was

everything was green and pale gold.
Ans X 1.CADB

2 2. ABCD
«” 3. BDCA
5 4.DCBA
Question ID : 630680321113
Option 11D : 6306801249175
Option 2 ID : 6306801249174
Option 31D : 6306801249176
Option 4 ID : 6306801249173
Status : Answered
Chosen Option : 3
Q.20 Select the most appropriate meaning of the given idiom.
Take a rain check
Ans X 1.Be extra weary of unexpected natural events
«#" 2. To refuse an offer or invitation politely
/X 3. To save money for an emergency
X 4. To check if you have the requisite resources
Question ID : 630680321127
Option 11D : 6306801249230
Option 2 ID : 6306801249229
Option 31D : 6306801249231
Option 4 ID : 6306801249232
Status : Answered
Chosen Option : 1
Q.21 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.
After that the talk got further and further away, and | (couldn’t make off the) words any
more.
Ans X 1.could made off the
< 2. couldn’t cut out the
¥ 3. couldn’t make out the
X 4. No correction required
Question ID : 630680321112
Option 11D : 6306801249170
Option 2 1D : 6306801249171
Option 31D : 6306801249169
Option 4 ID : 6306801249172
Status : Answered
Chosen Option : 1
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Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

In the library | found, to my great delight, a vast number of English books, whole shelves full of
them, and bound volumes of magazines and newspapers. A table in the centre was littered
with English magazines and newspapers, though none of them were of very recent date. The
books were of the most varied kind, history, geography, politics, political economy, botany,
geology, law, all relating to England and English life and customs and manners. There were
even such books of reference as the London Directory, the "Red" and "Blue" books, Whitaker's
Almanac, the Army and Navy Lists, and it somehow gladdened my heart to see it, the Law
List. Whilst | was looking at the books, the door opened, and the Count entered. He saluted
me in a hearty way, and hoped that | had had a good night's rest. Then he went on.

SubQuestion No : 22

Q.22 Select the options the most appropriate meaning of the bracketed word given in the
sentence below.

"...whole shelves full of them, and (bound) volumes of magazines and newspapers...
Ans X 1.huge

/5 2.irresolute
X 3. free
o 4. tied

Question ID : 630680321135
Option 11D : 6306801249259
Option 2 ID : 6306801249257
Option 3D : 6306801249258
Option 41D : 6306801249260
Status : Answered
Chosen Option: 1

Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

In the library | found, to my great delight, a vast number of English books, whole shelves full of
them, and bound volumes of magazines and newspapers. A table in the centre was littered
with English magazines and newspapers, though none of them were of very recent date. The
books were of the most varied kind, history, geography, politics, political economy, botany,
geology, law, all relating to England and English life and customs and manners. There were
even such books of reference as the London Directory, the "Red" and "Blue" books, Whitaker's
Almanac, the Army and Navy Lists, and it somehow gladdened my heart to see it, the Law
List. Whilst | was looking at the books, the door opened, and the Count entered. He saluted
me in a hearty way, and hoped that | had had a good night's rest. Then he went on.

SubQuestion No : 23
Q.23 Identify the correct inference that can be drawn from the passage.
Ans X 1.The library was dull and had not many books.

" 2. The library was old and not updated.
25 3. There were no reference books in the library.

X 4. The library seemed like an astronomical laboratory.

Question ID : 630680321134
Option 11D : 6306801249254
Option 2 ID : 6306801249256
Option 3D : 6306801249253
Option 4 ID : 6306801249255
Status : Answered
Chosen Option : 3
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Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

In the library | found, to my great delight, a vast number of English books, whole shelves full of
them, and bound volumes of magazines and newspapers. A table in the centre was littered
with English magazines and newspapers, though none of them were of very recent date. The
books were of the most varied kind, history, geography, politics, political economy, botany,
geology, law, all relating to England and English life and customs and manners. There were
even such books of reference as the London Directory, the "Red" and "Blue" books, Whitaker's
Almanac, the Army and Navy Lists, and it somehow gladdened my heart to see it, the Law
List. Whilst | was looking at the books, the door opened, and the Count entered. He saluted
me in a hearty way, and hoped that | had had a good night's rest. Then he went on.

SubQuestion No : 24
Q.24 From the given options, identify the suitable title for the passage.
Ans X 1.The Happy Day

#< 2. The Count
/& 3. London Directory
" 4. A Day at the Library

Question ID : 630680321132
Option 11D : 6306801249248
Option 2 ID : 6306801249247
Option 3 ID : 6306801249245
Option 4 ID : 6306801249246
Status : Answered
Chosen Option : 4

Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

In the library | found, to my great delight, a vast number of English books, whole shelves full of
them, and bound volumes of magazines and newspapers. A table in the centre was littered
with English magazines and newspapers, though none of them were of very recent date. The
books were of the most varied kind, history, geography, politics, political economy, botany,
geology, law, all relating to England and English life and customs and manners. There were
even such books of reference as the London Directory, the "Red" and "Blue" books, Whitaker's
Almanac, the Army and Navy Lists, and it somehow gladdened my heart to see it, the Law
List. Whilst | was looking at the books, the door opened, and the Count entered. He saluted
me in a hearty way, and hoped that | had had a good night's rest. Then he went on.

SubQuestion No : 25
Q.25 Which of the following statements is NOT true with respect to the passage.

Ans X 1.There was a table in the centre which was littered with magazines.
+# 2. The protagonist was alone at the library throughout.
/% 3. The protagonist was glad to see the Law List at the library.

< 4. The protagonist was delighted to see the variety of books at the library.

Question ID : 630680321133
Option 11D : 6306801249252
Option 2 ID : 6306801249250
Option 31D : 6306801249251
Option 4 ID : 6306801249249
Status : Answered
Chosen Option: 2

Section : Basic Knowledge of the candidates in Hindi language
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Q.1 fa=fafEa us &, oR faerel & 9, 39 fAeea &1 999 &R Sit faei 21 o1 a9 3resT Qe g1

fafmr
Ans  F 1. TSIl
X 2. 3
X 3. st
X A=
Question ID : 630680321156
Option 11D : 6306801249344
Option 2 ID : 6306801249342
Option 3D : 6306801249341
Option 41D : 6306801249343
Status : Not Answered
Chosen Option : --
Q.2 f=fafEd usn &, oR faereul d @, 39 faerea &1 wg= R St 2T 7Q Ftenif<s 1 9t aref aren
faerea g1
gl uss 9l fler gl
Ans X 1.3 fhal | sfar gT
X 2. JIfRARAT & HROT Hgl 1 7 T
X 3. oter O7 Y B
o 4. IR rf & ot 383 T aRomw et fAear &
Question ID : 630680321150
Option 11D : 6306801249318
Option 21D : 6306801249319
Option 31D : 6306801249317
Option 41D : 6306801249320
Status : Not Answered
Chosen Option : --
Q.3 fA=faf@aun d aR faereul § @, 39 faereu &1 == R Sit 9ea Yehaa 2reg a1 farerea T8 81
Ans 1. 97
X 2. auf
X 3. STeRIr
X 4. 3mT
Question ID : 630680321147
Option 11D : 6306801249305
Option 2 ID : 6306801249306
Option 31D : 6306801249308
Option 41D : 6306801249307
Status : Not Answered

Chosen Option :
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Q.4 ffafaa vy #, aR Reeal & Q, 39 Rereu o1 a9 o o)t Ry 79 21eg & vafgart 1 & ag

Ans

fRrerea TET 81
1 C]

X 1.dR

o 2. 9T
X 3.8

X 4. Ricfiga

Question ID

Option 2 1D

Option 4 ID

: 630680321155
Option 11D :

6306801249339

: 6306801249337
Option 31D :

6306801249340

: 6306801249338
Status :
Chosen Option :

Not Answered

Q.5 f=fafae el d 9 w9 a1 faee g gETa sgeae a9 & fag arel o 98t a1
AT a1 8?

A - ifeR Heeplal faraR g simeRoT & 3 o ofk g & 98 &l s orefta & umed st 81

B - 3TfoIQ gt SiTaT & foh 3@ g1 orclia @ eru=ft faraa & +u d urd a1
C - areda | T¥epfar o1 Fwfor ges el ot & are glar 81

D - T¥epfel ot A= 31 &, A4 Sfiad & 3R SaR-agR, W-ag auT fohar-serg iy

Ans 1. DCAB
X 2. ABDC
2 3.BCDA
25 4.BCAD
Question ID : 630680321138
Option 11D : 6306801249272
Option 21D : 6306801249270
Option 31D : 6306801249269
Option 4 ID : 6306801249271
Status : Not Answered
Chosen Option : --
Q.6 fA=faf@duy g arR el # A, 39 e &1 9 R St U @ 97 2 h1 T e gl
Ans X 1.gas
X 2.98%
o 3. gt
X A et
Question ID : 630680321141
Option 11D : 6306801249284
Option 2 ID : 6306801249282
Option 3D : 6306801249281
Option 41D : 6306801249283
Status : Not Answered

Chosen Option :
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Q.7 fa=fafEa usn A, aR faeeal d Q, 39 e &1 99 & st Shfein & arer fawaa g1

Ans X 1.s9@
X 2.5
X 3. ggATar
o 4. SEEd
Question ID : 630680321146
Option 11D : 6306801249303
Option 2 ID : 6306801249301
Option 3 ID : 6306801249304
Option 41D : 6306801249302
Status : Not Answered
Chosen Option : --
Q.8 f=fafEa un d, aR faereut d @, 39 faereu 1 wg= R it f3rar & A< arer 98 ferea 8|
&ues A g+t BE a8 @ WR ATF FHE™ET|
Ans o 1. TRUITS feRaT
X 2. gadprfere feRam
< 3. g foman
X A g foRa
Question ID : 630680321143
Option 1 ID : 6306801249291
Option 21D : 6306801249292
Option 31D : 6306801249290
Option 4 ID : 6306801249289
Status : Not Answered
Chosen Option : --
Q.9 f=fafad us &, R Rl & |, 3 T ey o1 7g= & it areian & fAg T 21
farerea g1
S <Rt 741 ST @ S AT Et
Ans o 1. 3aE
X 2. 3fE
X 3.3
X 4.3gmE
Question ID : 630680321140
Option 11D : 6306801249277
Option 2 ID : 6306801249278
Option 31D : 6306801249279
Option 41D : 6306801249280
Status : Not Answered

Chosen Option :
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Q.10 fFA=fafE@d us d, ar el 7 @, 39 98 Rerea a1 ag=1 &R it araien & g g 21 &

farerea g11
Ry smem gt it 7 g
Ans X 1.3mgd
X 2. srferemr
X 3. sfegh
o 4. TR
Question ID : 630680321139
Option 11D : 6306801249273
Option 2 ID : 6306801249274
Option 31D : 6306801249276
Option 4 ID : 6306801249275
Status : Not Answered
Chosen Option : --
Q.11 F=faf@d v &, 9r faereal & @, 39 faehreq &1 99 2 St WTadTes =T 1 9 frere 78 21
Ans X 1.5l
o 2. arft
X 3.udmg
X A fagan
Question ID : 630680321144
Option 11D : 6306801249296
Option 21D : 6306801249295
Option 31D : 6306801249293
Option 4 ID : 6306801249294
Status : Not Answered
Chosen Option : --
Q.12 fA=fafad usr #, IR el 9 @, 39 fAereq o1 999 &2 Sit A 21 61 a9 3reaT faeheu 21
ifom
Ans X 1.3
X 2. s
o 3. sifam
X 4.3aR
Question ID : 630680321152
Option 11D : 6306801249327
Option 2 ID : 6306801249328
Option 31D : 6306801249325
Option 41D : 6306801249326
Status : Not Answered

Chosen Option :
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Q.13 F=fafEa et d @ o a1 Rehrca ge GETa arerr a1 3 forg arerien ) agt an @

A et 8?2
A - STgt el uTepfaren died

B - Geil ht ©TEY Qe QT I &

C-Tad@aard

D - SRrEE hY gefanaremsi &

Ans . 1.DBAC

< 2.CBDA
< 3.CABD
< 4.DACB
Question ID : 630680321136
Option 11D : 6306801249264
Option 21D : 6306801249261
Option 31D : 6306801249263
Option 41D : 6306801249262
Status : Not Answered
Chosen Option : --
Q.14 F=fafEa el § @ w9 a1 Rdea g g« arerr a9 3 fArg arerien ot gt an @
AT T &8?
A-FAfAR U §
B - @2 ui @
C-Tegdaga
D - 3[R 3TU4 @ ghm foh
Ans X 1.DABC
5 2.CABD
< 3.CBDA
" 4. DBCA
Question ID : 630680321137
Option 11D : 6306801249265
Option 21D : 6306801249268
Option 31D : 6306801249267
Option 41D : 6306801249266
Status : Not Answered
Chosen Option : --
Q.15 Fr=fafRa ust &, o et § }, 39 Rerea &1 oam R it Ry 719 2ree & aga= &9 o1 T
3raT faehe g1
arg
Ans X 1. engsit
X 2. ugd
X 3.a1g@
o 4. a1gy
Question ID : 630680321148
Option 11D : 6306801249309
Option 2 ID : 6306801249312
Option 31D : 6306801249311
Option 41D : 6306801249310
Status : Not Answered

Chosen Option :
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Q.16 F=fafad us &, 9 fAereal & |, 39 faeeq o1 997 &2 it uag @ 79 2Ug &1 @) A gt
Ans X 1.gfa

X 2. o

o 3. Tl

X 4. JEy

Question ID : 630680321142
Option 11D : 6306801249288
Option 2 ID : 6306801249285
Option 3D : 6306801249286
Option 4 ID : 6306801249287
Status : Not Answered
Chosen Option : --

Q.17 F=fafEa vsr d, ar Rl 7 9, 39 Reea @1 97 R 7t gissin = arer fawsa 81
Ans X 1.@9

X 2.38a
o 3.3TS

X 4. yerae

Question ID : 630680321145
Option 11D : 6306801249298
Option 2 ID : 6306801249297
Option 3D : 6306801249300
Option 4 ID : 6306801249299
Status : Not Answered
Chosen Option : --

Q.18 f=faf@da us &, ar Rl d |, 39 ey o1 aa= &2 it Ry v 2reg & vafaarh 21 &1 agh
R adig!

o

Ans X 1.9
X 2. fqme
< 3. 3mag

o 4. Tuer

Question ID : 630680321151
Option 11D : 6306801249321
Option 2 ID : 6306801249324
Option 3 ID : 6306801249323
Option 4 ID : 6306801249322
Status : Not Answered
Chosen Option : --
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Q.19 F=fafEa us ), ar Reveul 7 9, 39 frereu &1 9a7 & 57t & 1€ qgrer o1 ag sref are feea

Ans

H

e 2 Q U aRAT
o 1. 8 &1 1 T8 T
X 2. 9gd Agd &1 B

X 3. AR e &z
5 4. Sgd @ g
Question ID : 630680321153
Option 11D : 6306801249331
Option 2 ID : 6306801249329
Option 31D : 6306801249332
Option 4 ID : 6306801249330
Status : Not Answered
Chosen Option : --
Q.20 f=fafRe usr &, ar fRereat d @, 39 fRrered &1 ag=1 o it & 71 gerar o1 Tgl aref arer e
gl
g T A g
Ans o 1. R a1 a1
X 2. FESIeh a1d FeT
X 3. @tar smeHt
X 4. sremdftag
Question ID : 630680321149
Option 11D : 6306801249315
Option 21D : 6306801249313
Option 31D : 6306801249314
Option 41D : 6306801249316
Status : Not Answered
Chosen Option : --
Q.21 F=faf@a ust &, o fRrepeal & @, 39 fereu &1 T+ 2 it Ry 7o Al o1 @ aref arer
farerea 21
HE-FHE AS! S @Y
Ans X 1. R UhR @1 AeHTa T AT
o 2. gufd: ufdepet 1 &t e
X 3. 75 IO 9 8 %l et 8
X 4. haa ferar
Question ID : 630680321154
Option 11D : 6306801249333
Option 2 ID : 6306801249334
Option 3D : 6306801249335
Option 41D : 6306801249336
Status : Not Answered

Chosen Option :
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Comprehension:

= g T Treriar & WTE 4 vt R M €1 39 i i eaydes Ug SR IR faehedt § € Ucdieh U
gafas IR |

ST Y Tdes UTOf 3 §ad | THTAT §3T 8, SR © df I8 ST h | §9 AT o 3T YR SFYd &1 T8
& T IR fAaR e B 9 UT fha ST ehal &1 STt 7Y 3l @ISt vl © I8 39 ST ohi o8 9 8 I
R & wfch T3 o g TR IR 7 &R U & IRT ST Sifg e g T8 §1 ST 81 S MR BN gR &
TR &7 A1 gRI A 4 8H 3d UTTG T8l 81 Hehdl! Hifeh 96 a9d gR A (A &1 Ag A gRI S @ ol At
ST § TReg 7% ST &8d GR el el §31T &1 7% & 1 S R ol Hehe el g1 afe SR # Ao
TRATAT G g6 U &, U] 519 dIeh g9 URATT & &2F T8l §1d 81 a9 deh SIdUT 8] e Tehd! |

SubQuestion No : 22
Q.22 AT F JJAR SHAT GR FT §?

Ans X 1.fa@R
o 2.TF
X 3.3
X 401
Question ID : 630680321159
Option 11D : 6306801249349
Option 2 ID : 6306801249352
Option 3 ID : 6306801249350
Option 41D : 6306801249351
Status : Not Answered
Chosen Option : --
Comprehension:
2 g R Treriar & WTe 4 vt R M €1 39 e dl eaHydes ug R IR faehedt § € Ui U
gatas R |
3T Y Tdes UTUfT 3 gad | THTAT §3T 8, SR ¢ dl I8 ST hl | §9 AT 3 3T YR S 61 T8
& ez WR IR aweh €Y I T fRa ST Tehar 81 St U Y @it v € 98 39 S ot g 9 gt ur
X & AR 7% o 276 TR fIaR 71 ahe U & hROT ST Sitq 2 &) T8 8 ST 81 S IR A gR &
WReg & 1 gRI A & &8 S1d WITT 781 81 Hehel! MiTch 96 a9d gR H 1A 8| AT AT gRI o W@ &l
ST § Reg 7% & &8d GR el el §31T 81 7% T 1 S IR ol Hehe el g1 Al =R # wRAToar
TRATET & §H U 8, TR=g ST ch BH URATT o 321 81 Bid 8 a9 ddh STIAUT g1 e Fehdl |
SubQuestion No : 23
Q.23 = faepedl & @ hI=-91 farehed shram o1 FHTATST 2reg; 7 &2
Ans X 1.47
W 2949
X 3.3RR
X 4.3
Question ID : 630680321160
Option 11D : 6306801249353
Option 2 ID : 6306801249354
Option 31D : 6306801249355
Option 41D : 6306801249356
Status : Not Answered
Chosen Option : --
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Comprehension:

= g T reriar & WTE 4 vt i M €1 39 i i eaydes g SR IR fadhedt § € Ucieh U
gafas IR |

ST Y Tdes UTOft 3 gag | THTAT §3T 8, SR © df I8 ST h | §9 1T o 3Ta YRR SFYd 81 T8
& T IR foaR e B 9 UT fhaT ST Rl §1 STt 7Y 3l @ISt vl © I8 39 ST ohi o8 9 8 I
R & wfche T3 o g TR IR 7 &R U & SROT ST Sitg e g T8 §1 ST 81 S MR BN gR &
WReg 7 1 gRI 7 & 8 319d UTTW g1 81 el Hilfch 96 3Ud gR A 194d &1 7% -t gRI & B i af
ST § TReg T3 & &8d GR el el §31T &1 7% & 1 S R ol Hehe el g1 afe SR # rAfuar
TRATAT G g6 U &, U] 519 deh g9 URATET & &2 T8l g1d 81 a9 deh SIdUT Tg] e Tehd |

SubQuestion No : 24

Q.24 o fereat & & spia-a1 frerea 9€ @1 et oreg Tdf 22
Ans X 1. f&for
X 2. 3Ry
W 3.
X 4.3
Question ID : 630680321161
Option 11D : 6306801249357
Option 2 ID : 6306801249360
Option 3 ID : 6306801249359
Option 41D : 6306801249358
Status : Not Answered
Chosen Option : --
Comprehension:
2 g R TreriRr & WTe 4 vt R M €1 39 e Sl eaHydes ug R IR faehedt § € Ui U
gatad IR |
3T A Tes U1l 3 ged H THTAT §3T 8, SR ¢ dl I8 ST hl | §9 AT 3 31 YR S 61 T8
& ez WR IR e €Y I T fRa ST Tehar 81 St 1 Y @it ahvd € 98 39 S ot g 9 gt Ut
XA & AR 7% o 276 TR fIaR 71 &g U & hIROT ST Sitq aaef &) T8 8 ST 81 SH IR A gR &
TR 3 A1 gRI 7 & g 319d UTTW g g1 el Hilfch 96 a9d gR A 194d &1 7T =t gRI & B i al
ST § Reg 7% FUT &8d GR I el §31T 81 7% T 1 S IR ol Hehe el g1 afe SR # AT
TRATET & §H U 8, TR=g ST e BH URATT o 321 81 Bid 89 a9 ddh SIAUT g1 e Tedl |
SubQuestion No : 25
Q.25 T4 TG I IS Iugsh M-
Ans X 1. GRHTEAT & B
X 2. g Sfte
X 3.2gai gR
o 4. 3T T &
Question ID : 630680321158
Option 11D : 6306801249346
Option 2 ID : 6306801249348
Option 3D : 6306801249345
Option 4 ID : 6306801249347
Status : Not Answered
Chosen Option : --

Page- 42



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

